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SET 17/VI/18(iii)

4,

10.

1.

12,

The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of the
question paper booklet at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified in the Entrance Test,

Tl WA Y & HE-y8 wosh S & ke we ot 6 e
SThuish Tor), o= =l o qhd sav e ¥ dfaa o e sEm
Do not write your Roll No. OR Nwme inside the Booklel.

TFRwT % ST ST9AT T AGAT ST 7 ferdd

There shall be no erasing or overwriting in the answers given on the Answer Sheet, in which
case such answers shall be deemed as incorrect.
-9 T R T s Il &) R A 2 foes 7 e S =R,
i v fufg § afafed ool & @9E O forn s

Use of log tables or calculators is not permitted. '
g Mo Rl T & sedh @ seefa o @)
No candidate will be permitted to enter the Examination Hall after the expiry of 30 minutes
from the commencerent of the Entrance Test.
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No candidate will be permitted to leave the Examination Hall untif the expiry of two
hours from the commencement of the Entrance Test.
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Candidate will not bring any loose paper, whether writicn or blank, inside the Examination Hall
except the Admit Card.
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Candidates using any kind of unfair means OR attempting to cause disturbances in the
Examination Hall shall be liable to be expelled from the Examination and his'her performance
inthe Test will be cancelled. ) K
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SET 17/V1/18({iii}

SCHOOL. ENTRANCE TEST, 2017

CLASS ; VI
& VI
Time : Two Hours Maximum Marks : 100
ona : T aud m: 100
IMPORTANT

Read carefully the ‘Instructions for Answering’ given on the
Answer Sheet :;md answer the questions as directed .

IW-13 | Ry M I A w3 frg e o @ e sk
Frferem T €

¥ i

01. Name the woman President of India :

(1) Sarjaini Naléfu- (2) Pratibha Patil

{3) Kamala Nehru 4) Indira Gandhi
ARG W e asuliy & e
(1} wOfw T (2) wiesr ofew
(3) W WEw (4) g i

02, Which day of the year is celebrated as 'Children's Day 7
(1) 5 September {2) 2 Qotober
(3) 4 January . (4] 14 November
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‘a1 TR’ gfted e @i @ e e R ?

[

(1) 5/ (2) 2 SEEET |
(3) 4 FHah (4) 147G

03. National river of India is -

(1) Ganga (2) Yamuna
(3) Kaveri (4) Godavari
AR F I ET ¥

(1} W (2) g

(3) ®HEd T4 TEEd

04. How many players are in one kho kho team ?

SraTaT s ow o faei a0 ¥ 7
{1 5 (2) 6
3) 9 (4) 12

05. Who was given the title 'Gurudev' ?
(1) Mahatama Gandhi
(2] Sardar Vallabhbhai Patel
(3) Ravindranath Tagore
(4) Subhash Chandra Bose
TeRa Sy feaa o ?
(1) TEAT e
(2) SRR IEEH W98 92
(3) e T
@) G E= T



06.

07.

08,

09.

SET 17/Vi/f18{iii)

The last court of appeal in India is :

(1) High court

(2) Criminal court

(3) Supreme court

(4) Civil court "

wiwr & e wrE § oo =g ® -
(1) I== HHRY :

(2) emyUfeEs R

(3) waTew =T

(4) <EF ey

Wheel on [ndian national flag has how many spokes ?
WRE  #IW RerrT wm @ Reoed Rt § 7

(1) 20 (2) 24

3) 26 : 4) 28

Who composed Mahabharata ?

(1} Ved Vyas (2) Tuiasidas
(3) Premchand (4) Mirabai
HETWIE & == feg 3 & ¢ '

(1) 3 /Y (2) ey

(3) Dy (4 e

How many planets are there is our solar B}rétem?
BRI "vsa § P mm ¥ 7

m 7 2 9

{3) 8 | . A (4} 10
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10. Which of the following is not a liquid ?

11.

12,

(1} Water {2) Milk

(3] Qil (4) Wood

TH O & o1 yaref za i 2 7

(1) (2) o

(3) o (4) TS

Which is the biggest cuntinﬂﬁt ?

’[1] Asia (2) Europe

(3) Africa _ (4) North America
aed 937 HerE e Gr g ?

(1) oS (2) 9

(3) TR (4) SEd sEde
Where the Sun temple in the furr-n of a chariot is located ?
(1] Assam (2) Bihar

{3] Odisha (4) Maharashtra

T # g A g g nRew wet Ruw ¥ ?
(1] EH (2) FRR
(3) s (4) HEY



13.

14,

. 18.

SET 17/V1/18(iii)

Sushil Kumar plays which game ?
(1} Badminton _ _ (2] Wrestling
(3} Tennis (4] Cricket

g9l AR e 8w & fawdr & 7

(1) Ssfies - 2) o

(3) fr - 4) FBFhe

Which of the following is arneighhoring country of India ?
(1) Pakistan (2} Zimbabwe
(3) Mixico (4) Egypt

T H | B G2 ARG oIS ¥ P

(1) wfEhear (2) R

(8) A | 4 3fre (Fre)
What is the name of the capital Jharkhand ?

(1} Jaipur = {2) Patna

(3) Gandhinagar (4) Ranchi
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16.

17,

1B.

Which animal is called the 'ship of the desertr?-
(1) Yak {2} Camel

(3) Bull (4) Horse

mwﬁ%ﬁmﬁﬁwmw%?
(1) =% (2) &<

(3 @i= | (4) H|IEl

April 14 1s celebrate as :
(1) Republic day

(2) Labour day

(3) Teachers' day

(4) Ambedkar Jayanti

w14 B FAEAT ST E
(1) o= REd
(2) sfees Raw
(31 e Reg

(4) STEEHT Sl )

Lucknow is situated on the bank of which ;ivf:r ?
(1] Gomat {2] Shipra

(3) Satlaj (4} Mahanadi



19.

21.
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AgTsE g T S ae w e ?
{1y " (2) R

(3) EaEST (4) FTBIET

How many members are nominated by the President for Rajay Sabha ?

Tl @ Teae 3y B aee AR g e ¥ 7

(1) 8 2) 10
(3) 12 4) 14
Smallest state of India is :
(1) Goa (2) Sikkim
(3) Tripura (4) ' Mizoram
I T HEH HeT T R
(1) e (2) T
(3) Fga ‘ (4) Bfror
Rate of 1 kg potato is Rs 5 then mstaf3lkgpota-toia:

2
| R S 7 T B €S, o 3 el g, o B

1 Y
(1 75 () 153

381 17 (4) %15
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22,

23,

24,

25.

Find L.C.M. 4, 5, 6 : |

A 5 6 o, d. T FL
(1) 20 (2) 30

(3) 40 (4) 40

9875 - 1234 x 8+ 2 = ovvsrnnrnnens
(1 3 (2) S
3 7 (4) 9

Arun's mother gave him 60, Arun bought 3 maggi packets. Now he
has a five rupee coin, 2 one ruppee coin and one two rupee coin. The
rate of one Maggi packet is !

O A I 3T 60 677 B | aew A 3 ¥ Ydhe @i a9 wHD I
e Ofer U T Ry, 2 U Y @ (e T um D sud B faad {4
ooy W U W =g B

(1} %13 (@) 2?15

13) %17 4) %18

A rectangular garden has a perimeter 76 m. If width of garden is 18 m

then area of the garden 1s:
(1) 1120 sqm (2} 324 sqm

(3) 400 sq.m (4} 360 sq.m

10



26.

27.

28,

29.
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O SRR T & 9™ 76 4. 1 9 i o 9 1841, B,
TF TS B A B

(1) 1120379, (2) 324 ..
(3) 400 =4, (4) 360 ..
4:17=24:79

(1) 20 (2) a7

(3) 51 ‘ _ 4) 102

Roman Numeral of greatest three digit number is :

T o i S T du e b
(1) IXIXIX (2)" CMIXIX
(3) CMXCIX 4 CMIC

What percent of i day is 36 minutes ?

O 7 o B ofawa 36 R R 7
1) 25% . 2) 3.6%

(3) 2.5% 4) 0.25%
Ina AABC, ZABC = 30° ZBCA =75 find ZBAC ?

AABCH , ZABC = 30° ZBCA =75° ¥ @ ZBAC % a1 &7 8ty 7
(1) 75¢ (2] 50%
(3) 90° 4 180°

11
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30. The average marks of Kunal in five subjects is 80,5, Find the total

31.

marks of Kunal in all five subjects.

(1} 60.5 (2) 402.5

(3) 425.5 (4) 420.5

o I g Rt ¥ 80.5 olaa aid uier FEY | HITE ST & a1 e
g ure RRd T g ofE Iagd ) ;

(1) 60.5 (2) 402.5

(3] 425.5 (4) 420.5

If 80 one rupee coins weigh 388 gram, then how much 10,000 coins

welgh ?
(1) 48 kg 500 gm (2) 38 kg 800 gm
(3] 485 kg O gm (4) 388kgOgm

T U B9Y @ 80 TRt @ g9 388 AW ¥ &r 10,000 RyeFhl 1 A9
Ferer=m & 7
(1) 48 B.am 500 a™ (2) 38 .7\ 800 IH

(3) 485 (%.a™ 0AA (4) 388 .9 0AH

12



32.

33.

34,

SET 17/VI/18(ii)

Missing number in the sequence 3, ........, 48, 192, 768 is :
ST 3, ........, 48, 192, 768 § e dear § ¢

(1) 8 | (2) 12

3 16 ' (4) 18

Find H.C.F of 12, 16 and 56 :

12,16 X 56 T 4. §. 9. o FL ¢
(1) 12 (2] 8
(3). 4 (4} 2

Sum of the number of edges and faces of a cuboids is ........
g9 B B oA it @t e = A ¥

(]) 12 (2} 14
(3) 16 @) 18
Choose two numbers from the box to complete the division

| 7 +f ] = 11. the numbers are :

4, 5,9, 31, 38, 44, 48, 132

e B TU w0 3 Rre W § A @ den gy
[+ [ = 11 st doad ¥ - |

4‘, 9; 9, 31, 38, 44, 48, 132

(1) 132, 12 @) 99,9

(3) 44,4 (4) 38,5

13
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36.

37.

38‘

39.

2 weeks, 3daysand 3 hrs = ............. hours :
2 uwE, 3fE9 afw 39w ... qUg
(1) 407 (2) 409
(3) 411 | 4) 413
Largest three digit number divisible by 29 is :

29 & vy S ofFf & ged o9 dem & o

(11 999 . (2) 957

(3) 968 4) 986

18 : 18 on digital clock means :

(1) 6:18 AM : (2) 6:18PM

(3] 5:42 AM 4) 5:42PM

Ty faftrey o=t & 18: 18 1 @14 B -

(1) 6: 18 q@TET (2) 6: 18 STHEHA
(3) 5:42 qaied (4) 5 : 42 ITIEA
20L= coiiiienens ?

(1) 20 ML - (2) 200 ML

(3) 2000 ML (4) 20000 ML

14
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SET 17/VI/18(ili)

1 | TP ?
(1) 20 fF.. - (2) 200 fiy.&1.
(3) 2000 .. (4) 20000 Fr.@.

z ’ 1 :
Weight of fréesh fish becomes 3 of its weight after drying. If weight of

one fresh fish is 2 kg, then weight of 15 dried fish in kg is

ﬂlﬁﬁﬂﬂﬁﬁﬁm'@ﬂe{%ﬁ% B SR B | ek aei Awel Bl g
2kg & o9 15 gEit weRmt @ aoq B § §

(1) 5 ' (2) 10

{3) 15 (4] 30

Which type of objects do not allow light to pass thmugh them ?
{1} Opague object

{2} Transparent chject

(@) Transhucent object

(4) Glass object’

%quﬁa@mzammaﬁaﬁafﬁg?
(1) sroresli @) et
(3) Wt | (4) i T

15
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42. A device that is used to break an electric circuit is called :
(1) Terminal (2) Switch

13} Insulator (4) Conductor

a8 Ux o R ufigy @) g% S B Rg R e am
(1) o= fem (2) =
(3) SEAER (4) TR

43. Which gas in the atmosphere supports burning ?
(1) Nitrogen
(2] Oxygen
(3} Carbon-di-orxide

(4) Carbon-mono-oxidie

A F1 B H T sEeE ¥ g e g 7
(1) R

(2) FATERAEA

(3) FEA-SE-GTFRES

(4)  FET-HA-HATFAES

44, Which material is not attracted towards a magnet ?
(1) lron (2) Nickel

{3) Wood (4) Cobalt

16
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B B T g 8 T et g
(1) @ (2) Ferm
(3) el (4) e

By eating. soybeans we can fulfill nutriti-:-ﬁal requirement of
(1) Carbohydrate (2) Fat
(3) Protein (4) Tlodine

o @Y B R e o @ oy O e ¥ 7
(1) FEeEse (2) @
(3) W (4) AR

The joint where our neck joins the head is a ..........

(1) -Ball and socket joirit (2) Pivotal Joint

(3) Hinge Joint (4) Fixed Joint

T8 dY Bed o fag s & gur e ®
(1) Fgw AR afwsw @ () g S
(3) e Wiy (4) Tag =iy

Which elemient is necessary for healthy teeth ?

(1) Iron (2) Calcium
(3] Sugar 4) Gold

17
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SIGT B @y T B 6 B 6 o Aeeds B 7
(1) HAEH (2) HRTEH
(3 = o (a) €

48. Disease caused by deficiency of Vitamin D :
(1) Secuvy
(2| Beri beri
(3) Loss of vision at night
(4) Rickets
Rrefte D & ot & 97 g ¥ ¢
(1) w= PR
EEEGIL ] (4) Rz

49. The tolal number of bones in human bedy :
T @ WX % Hw e et ¥
(1) 205 (2) 206
(3} 207 (4) 208

50. Which is not a part of the flower ?
(1) Sepals ' (2) Stamens

{3) Pistil (4) Leaf

18



51.

52.

SET 17/VI/18(iti)

B G Y= H AT I B 7

() aEwmEEs @) g
(3} BT 4) gt
Essential for living things is :
(1} Eating {2) Drinking water
[3] Wearing clothés {4} Respiration
wofla aegel & Mg smavas ¥
(1) «SF HEW (2) g diEn

(3) TS g ' (4) e

Quantity of usable mater on the earth is :

(1) Unlimited @) Limited
(3) Ended - ' (4) Increasing
gt X IRPT HEY IR AW A HET

(1) ordifae 8 (2) @it 2
@ @ ¥ (4) @R

19
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83. Which of the following instrument measures the intensity of earth

541‘

55.

quake ¥
{1) Seismograph (2) Lactometer
(3) Barometer (4) Krescograph

ﬁﬁ%ﬁ@ﬁﬁﬁﬂ%ﬂﬂfﬁwa&mﬂmw%?
(1) Fremns (2) JFHET
(3) ST (4) BT

Which of these is net a constellation ?
(1) Qrion (2) Ursa major

(3) Saturn (4] Scorpins

e & & 7 91 9% O B THE el B 7
(1) SHREA (2) STEr 3T
(3) i 4) whiEd

The distance between Delhi and Mumbai is usually expressed in units

of !
(1) Decameter (2) Kilometer
(3) Meter (4) Centimeter

20



67.

58.

SET 17/V1/18{iii)

Recft & grad & &= 1 Eft TR & A @

(1) i
(3) #Hex

. The moon is :

(1) Satellite

(3) Star

I B
(1) <9Ue
(3) <=

Coal, 0il and hatural gas are alt :

(1) Renewahle

(3) Food
Frae, O M wphes e ¥

(1) “TerErTefg
(3) W

The SI unit of speed is :
(1) mfs
{3) km/g

21

(2)
(4)

(2)

@)

(2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

Co icea
S )

Planet

Comet

Fossil

Hydroelectric

.cm/kg

none of above
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I H TH. FE A AED €
(1) #Hr/4. (2) & Awar
3 .. am (4) i3 &l

59. Which of the following is used to make cement and concrete ?
{1} Lime stone (2] Sand Stone

(3] Pumice (4] Red Stone

P & & & «iffe X Saftle 999 | SuaEhr & 8 7

(1) T G (2) TG GeeTT
(3) oiar qeere (4) T qeIT

60. Recycle process is not possible with :
{1) Paper (2) Plastic

(3} Glass (4) Fuel

T: TR T e ®
(1) AT & (2) wHREH F

(3} Wi FT (4) 9T B

61. =i fgq = w== ST & 7

(1) 14 Fg=T (2) 14 =
(3) 14 STRIT (4) 14 g™

22



62.

63.

65.

66.

67.
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‘A, %, 3, A L, A BAGETE 7

(1) € |7 (2} g wX

(3) T @Y . (4) RBaw ®&<

=R A & i B E 7

(1) =T ™| (2) TRA &

- (3) gE™ g (4) areHifp

‘FE wd M gew A 59 g # Powms adevm @A ar & ?
(1) % | (2 T

3 wd : i (4) = SR

Rt oot & ©% & oifees o o o ‘7o wed ¥ 7

(1) SToremmef (@) e

(3) vafmarh (@) e o=
FTAeamw o= g ¥ 7 |

(1) A | (2) aEh I
(3) A (4) afeh

e wor ) T Jaerrd adf & 7

() o (2) ey

@) =t [4) SR

23
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68.

= (3 3

69.

70.

TL.

72.

73

fe=ll aefaren & @ arsom wafadr Pl 8 9
(1] 36 (2) 32

A

(4] 37

G T GAET e w e ¥
(1) sTafdes Ue=T B

{2) a1 & wa RarEr v

(3) Hell H T FHT

(4) STYE TH= A 8l

fdi 8 qogy 9=t & 9Yd 1 T w8 7

(1) Gwg (2) "B

(3) BRe W (4) 29T
DS g el Al delt 21 wer A dar @ S own ¥ 7
(1) A=y (2) Era-wer

(3) gt (4) BRT-E

‘P W A w4 e 7

(1) e 2 a1

(3) =rsT (4) T

"@nﬁ’%ﬂw%sﬁﬂw%?

(1) ae T (2) I
(3) s (4] ¥R

24
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75.

SET 17/V1/18(1d)

gt % us quigerd g ¥

(1) et (2 9

(3) waf ) =W

HIen B B S B ¥ 7

(1) H (2) 79

(3) e (4) =iivE
Mo wex BN @ e o JErever ¥ ¢

(1) =TS (@, sftntow
(3) HiET=H (4) I

< Y N G B F AT A et v i ¥
(1) FEdm @ R

3) Rrdor (4) afardeT
WA T oo B ) ey R

(1) IEAN BT &

(2) oS 5

(3) wriersmepIT =Y

4) % F T ot

< g B o wwd ¥ 7

(1) HFET | (2) I
st (4) TR

25



SET 17/V1/18(iii)

80. ‘TBIEMT =% & :
(1) EgaTdl )
(3) Fr=mredes (4) eafeeiers

81. Fill up the blank with appropriate article :

Eoin Morgan 1s ....c..ceue [rish cricketer.
(1) the (2) a
(3) an (4] also

82, Fill in the blank with appropriate preposition :

We need a pen to writeé ...........

i’lj on | (2) about

i3) for . (4) with

83. Which of the following is an imperative sentence ?

| (1) Feel fr.l::t: to text me in the ﬁtr::ﬁing,.
{2) Don't you visit your uncle's house during summer ?
(3] India is a land of diversity. |

{(4) How lovely they are !

26
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84. Fill in the blank with appropriate verb :

ilss
Hovmuaan raining since last evening .
(1} was L . [2) have been
(B is (4) has been

85. Pick out the Abstract Noun from the following options :
(1) Would (2) Doubt
(3) Rohan : b (4) Delhi

86. One, who is good atisports P

(1) Author (2) Athlete
(3) Artist e (4) Architect
W IERL : ' L (EL

87. What is the rhyming Word for 'And’ ?
{1) Sun cootmne -t (@ Bedo

(3} Band ' - .{4) Fat

ST T | S IR
88. What is the antonym of the word - INHALE

(1) Sneeze (2) All Hails
(3) Exhale (4) Exile

27
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B9. What is the meaning of the expression - 'spick and span' ?
(1) Pick and give
(2) Smart and dirty

(3) Smart and clean

{4) Clean and sure

90. Which of the following sentence is in future progressive tense ?
(1) 1am going to Delhi now.
(2) [ shall be going to New York.
(3) [ shall have gone to the market.

(4) 1 have been going.

91, What is the synonym of the word joy is ?
{1} pleasure {2) movie

(3) picture (4) entertainment

92. Which of the following is a correctly speit word ?
(1] Commitee (2) Committee

(3) Comite {4) Comittee

93. A baby deer is called a:

(1} Cub (2) Fawn

(3) Strew (4) Colt

28



94,

95.

97.

98.

SET 17/VI/18(iii)

Shyam 18 ..ovvevmiennn ﬂoy in our class.
{1) intelligent

{2) more intelligent

(3) most intelligent

(4) the most intelligent

What is the synonym of the word - HARVEST ?
(1} Sow (2) Reap
(3) Plough {4) Furrow

. What is the verb of the word - EXAMINATION 7

(1) Exam = (¢) .Examine
(3) Examinee i (4) Examiner
Which of the following is a First Person Noun ?
(1) We : i (2) They
(3) You 48 {4) She
_ '}
What is the Past Participle of the word - PUT ?
(1) Putt (2) Put
@ Putin @} Putted

29
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99. Which prefix would you a&d__,tﬂ_the word - Behave ?
(1) Dis : {2) Re
(3) Miss (4) Mis

100. Which of the following is an auxiliary verb of present tense 7
(1) Was (2) Had

31 Will have 4] Are
(3)

30
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